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s = "salam"

ss = “khobi?”
print (s + ss)
print (s[3])

print (ss[4])
print (s[0]+ss[0])

=z

a = \\? &//
print (len(a))

name=input ()
namekh=input ()
tool name=Ilen (name)

tool namekh=len (name Kkh)
print(tool name + tool namekh)
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name kh=.... | i
print( ... A )
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print (b)
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import turtle
turtle.forward(100)
turtle.left(90)
turtle.forward(100)
turtle.left(90)
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import turtle
turtle.left(90)
turtle.left(90)
turtle.left(90)

turtle.left(90)

turtle.forward(50)
turtle.forward(50)
turtle.forward(50)

turtle.forward(50)
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import turtle
turtle.forward(100)
turtle.right(90)
turtle.penup()
turtle.forward(100)
turtle.left(90)
turtle.pendown()
turtle.forward(100)
turtle.right(90)
turtle.penup()
turtle.forward(100)
turtle.left(90)
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import turtle
turtle.forward(200)
turtle.right(120)

turtle.right(60)

turtle.backward(...... )
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